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NO. 0 0.0 0.0 0.0
NO. 0+1. 7 1.7 20.0 10. 00 17.0 9.0 4. 50 7.7
NO. 0+2. 2 0.5 20. 5 20. 25 10. 1 9.6 9.30 4.7
NO. 0+8. 8 6.6 20.0 20. 25 133.7 9.7 9. 65 63. 7
NO. 0+9. 3 0.5 20.0 20. 00 10. 0 9.7 9.70 4.9
NO. 0+11. 0 1.7 0.0 10. 00 17.0 0.0 4. 85 8.2
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a7 U —h 18-8-40 V = 3.806X7.006X0. 15 m3 4.0
F A= (3.806+7.006) X2x0. 15 m2 3.2
HEE/LHIL 1:3 V = 6.606X3.406X0. 03 m3 0.7
FEREA T RC-40 t=20cm A= 3.806X7.006 m2 26. 7
N
IR S TR 40m3 N= 5 1.0
AL = s 1.0
HERT L = s 1.0
77 v RFL N= K 1.0
H T N= e 1.0
W N PR L
27 U=k 18-8-40 V= (1.5X1.5%0.2) —(0.905"2X 7 /4X0. 2) m3 0.
Tl e = 1.5X4X0.2 m2 1.2
BbEA 1T RC-40 t=15cm A= (1.5X1.5) = (0.905"2X 7 /4) m2 1.6
ki T SD345 D13 W= (1.4X124+0. 395X 20) X 0. 9951000 t 0.02
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IESYPIN V1= (4. 55%5. 60-4. 00%5. 00)*2. 1=11. 51
V2= 4.55%5. 60*0. 3=7. 64
V3= 4.75%5.80%0. 05=1. 38
X V= 11.51+7. 64+1. 38=20. 53 m3 20. 53
a7 U — MRIEMLEE  [$kfas)-) m3 20. 53
PR B AL 4x50X50 3.06kg/m W= (1.3+0.2)%18. 0%3. 06=82. 62 kg 82. 62
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